The 2012 Ohio QSO Party

Once again the last weekend of August provided Ohio hams the opportunity to take to the airwaves to greet each other as well as hams around the world in the Ohio QSO Party. Good weather made for good outings for many, whether by driving around the Buckeye state, finding a new location in a possibly rare county, or just firing up the rig at home. To the numbers:

______ OH entries: 130 Total QSOs reported: 37567 Number of entries: 248 OH Calls: 583 Active stations: 3040 MULTIPLIER AND COUNTY STATISTICS Mults - CW: 143 of 149 SSB: 147 of 149 Overall: 148 of 149 Counties - CW: 87 of 88 SSB: 87 of 88 Overall: 88 of 88 REPORTED QSOS PER BAND AND MODE 15 10 Total 80 40 20 CW: 4590 7675 2674 36 9 14984 SSB: 4712 15004 2707 155 5 22583 _____

TOTAL: 9302 22679 5381 191 14 37567

Activity was down somewhat from 2011's record, but still lots of people showed up. All 88 Ohio counties were represented; 87 counties were active on each mode, with the often rare Auglaize county missing on phone, and Licking, well represented on phone, but MIA for CW activity. Overall Monroe was the rarest, with 15 qsos reported in other logs. Canada's Prince Edward Island was the only totally missing multiplier from outside Ohio. Neighbors Michigan and Pennsylvania were the most active states.

Seven stations worked more than 80 Ohio counties, with rover N9FN catching 85, a new high water mark. They missed Brown, Henry, and Jackson. Of those seven stations, four missed Auglaize and Knox; three missed Monroe and Jackson; and two missed Belmont and Ross. Seventeen counties were missed by one of the seven county mavens, with such large counties as Summit and Stark making the list.

The Ohio single operator category was once again led by Bob Haynes, KW8N, of North Ridgeville in Lorain county. His 970 qsos is a new single operator high, though the 2010 record score of K8O/K2KW remains on the books. Jim Galm, W8WTS, activated the K8AZ superstation in Geauga county to win the low power category. Hank Greeb, N8XX, a long time Cincinnati resident now living in Michigan, came south to operate QRP as K6JSS from the Glacier Ridge Metro Park in Union county, and took Ohio's QRP honors for the third straight year.

OQP Chairman Jim Stahl, K8MR, this year went out mobile with Gary Mikitin, AF8A, and came home with the top mobile score. In the Rover class, the N9FN crew from Lafayette, IN, joined us in western Ohio and came out on top in the category. The multioperator team at K8DV in Clermont county not only won but also set a new record in that category.

The single mode plaques went to Tom Hain, KV8Q, from Franklin county on CW, and to Scott Gordon, NT8Z of Delaware county, on SSB. Note that to win a single mode plaque you do not have to operate exclusively on that mode; NT8Z also made 50 qsos on CW which greatly helped his overall score.

This year there is no plaque for the top club, as we have noticed that very often clubs no longer have a physical place to keep or display them. But we congratulate the Delaware Amateur Radio Association, who turned out the most entries and the winning score among Ohio clubs.

From outside Ohio, Tennessee's Steve Woods, NA4K, who has previously won the Low Power OhQP plaque, this year entered with high power and took the honors. Dave Pruett, K8CC, earned the low power award this year. In the QRP category, Maryland's Curt Milton, WB8YYY, was the QRP winner. Operating contests like the OhQP from the west coast can be a challenge, but Bill Waters, W7GKF, rose to the task and will receive one of our beautiful plaques for his effort. And finally, from outside the USA and Canada, Andreas Gille, DL3GA, won the plaque for the top DX entry.

NEW FOR 2013!

Matt Welch, W8DEC, Ohio's ARRL Section Emergency Coordinator, approached us last fall about adding an emergency communications aspect to the Ohio QSO Party. After discussions with Matt, for 2013 we're adding a new category, for Emergency Operation Center (EOC) stations. It will be open to operations from any established EOC in Ohio, which may use any number of operators and transmitters, and will be scored as any other entry. There will be no will be no special credit or bonuses for working an EOC, just work and log them as any regular station. There will be a plaque awarded to the top EOC entry, sponsored by the Radio Society of Ohio, K8RSO.

We hope this will give EOC stations a good workout for their stations, and get lots of new blood into the OhQP!

RESULTS UPDATE

After the results were published in March, going through log checking results for individual stations, we discovered that the new DX multiplier for Ohio stations had not been reflected in the published scores. The scores have been revised to include that multiplier. So the good news is, that for most people their scores increased. (And did not go down – just remained the same if you had not worked a DX station). Given the finite time and energy of the report writer, the score list by Ohio county was not updated. (So you can see your old score there).

The joys and benefit of web publication!

ABOUT LOGS

OhQP log checking is done by Tim Mitchell, K9TM. Tim is in a sense a professional log checker: along with K8CC (this year's low power out of state winner) he does the log checking for the ARRL 10 meter and 160 meter contests. A good part of log checking has typically involved massaging various computer generated logs into the proper format. To simplify this work Tim, also the OhQP web guru, developed a web based log submission system that debuted for 2012. Many of you used it up front, and those who emailed logs received requests to resubmit via the web. The web system checks the logs for proper electronic format, and for matching of information (about category, QTH, etc.) submitted with information contained in the log. It may have taken you several tries to get things right (one common error was leaving a default QTH of OH in the logged exchange, rather than your county), but we appreciate you having used this system, which speeded up and made log checking more accurate. And thanks to K9TM for his fine work in creating this system.

THANK YOU!

Lots of work goes into running the Ohio QSO Party. OhQP Chairman, Jim Stahl, K8MR, did the report. As mentioned earlier, Tim Mitchell, K9TM, is the man for log checking and web design and operation. Ken Silverman, K2KW, again did a great job of stirring up the publicity for the 2012 OhQP. Unfortunately Ken has moved to Virginia, so won't be around to beat on you for next year. Look for a new hand at that. Ev Jackson, WZ8P, of the Franklin Printing Co. of Zanesville, handles the beautiful plaques we award the winners. And finally, OhQP committee members K1LT and AF8A end up with the odd jobs.

The OhQP is sponsored by the Mad River Radio Club. We are a club interested in contesting, officially centered in Findlay but with meeting at various locations around the state (and nearby Michigan). For more information about the MRRC, visit <u>www.madriverradioclub.org</u>, or get in touch with any of the OhQP committee members. You can also stop by to say hello at the MRRC "Suite in the Sun" at the Dayton Hamvention, a.k.a. Flea Market spots 3616-3619, on Friday and Saturday.

And most of all, thanks to all who got on the air, and encouraged others to get on the air, to help make the Ohio QSO Party one of the best. See you in 2013!

The 2013 Ohio QSO Party Saturday, August 24, 2013 Noon – Midnight EDT 1600z – 0400z

See you then!

2012 Ohio QSO Party Plaque Winners

Category	Winner	Sponsor
Ohio Single Operator High Power	KW8N	Findlay Radio Club
Ohio Single Operator Low Power	K8AZ (W8WTS, Opr)	Midwest Traffikers & Contesters
Ohio Single Operator QRP	K6JSS (N8XX, Opr)	Flying Pigs QRP Club
Ohio Multioperator	K8DV	Wayne Amateur Radio Club
Ohio Mobile	K8MR/M	Lake Co. Amateur Radio Assoc.
Ohio Rover	N9FN	Delaware Amateur Radio Assoc.
Out of State S.O. High Power	NA4K	COOKEN
Out of State S.O. Low Power	K8CC	Sean Fleming, K8KHZ
Out of State S.O. QRP	WB8YYY	Chuck Patellis, W8PT
Mountain/Pacific Time Zone	W7GKF	Canton Radio Club
Ohio CW	KV8Q	40 Over Club (K8FOC)
Ohio SSB	NT8Z	Muskingum Ham Radio Club
Single Operator, DX	DL3GA	Northern Ohio DX Association

Callsign	Score	QSOs	Mults	CW Q	CW Mlt	PH Q	PH Mlt	QTH
KW8N	282,210	970	230	257	99	713	131	LORA
K1LT	219,170	707	217	303	98	404	119	FAIR
N8BJQ	212,520	692	210	320	105	372	105	CHAM
K8MP	193,053	627	203	324	106	303	97	DELA
K8ES (N9AUG, opr)	121,550	428	170	287	96	141	74	DELA
K8YM	111,972	535	172	116	59	419	113	TRUM
W8JK (W8ERD, opr)	98,615	400	163	205	80	195	83	DELA
NT8Z	76,648	488	143	48	27	440	116	FRAN
K8ROX	71,736	427	147	61	38	366	109	CRAW
KE8M	57,368	284	101	284	101	0	0	HURO
WT8C	33,681	327	103	0	0	327	103	LAKE
NB8I	28,830	310	93	0	0	310	93	CUYA
KC8RPV	19,224	216	89	0	0	216	89	HAMI
KE8O	18,312	218	84	0	0	218	84	DELA
AC8G	13,098	177	74	0	0	177	74	MONT
K8IO	12,844	166	76	3	3	163	73	CLIN
KB8VAO	6,200	92	62	8	8	84	54	MAHO
KD8CJ	2,660	70	38	0	0	70	38	HOLM
KA8AXY	2,072	56	37	0	0	56	37	CLER
W8LO	1,666	49	34	0	0	49	34	DEFI

Ohio Single Operator, High Power

Ohio Single Operator, Low Power

Callsign	Score	QSOs	Mults	cw q	cw mult	ph q	ph mult	Loc
K8AZ	183,920	582	209	298	109	284	100	GEAU
K8NVR	127,269	497	179	214	76	283	103	MEDI
W8KTQ	126,558	479	158	322	87	157	71	DELA
K8FH	115,260	403	170	275	104	128	66	LORA
KV8Q	100,560	419	120	419	120	0	0	FRAN
AA8IA	92,824	386	164	180	81	206	83	JEFF
K9NW	89,420	344	170	182	91	162	79	BUTL
W8TM	88,928	397	112	397	112	0	0	HAMI
KE8G	63,360	330	96	330	96	0	0	CUYA
NS8O	60,720	296	138	144	64	152	74	MEIG
NO8C	58,194	273	122	204	75	69	47	PUTN
WA8KIW	39,298	401	98	0	0	401	98	HIGH
N8BV	37,278	342	109	0	0	342	109	HAMI
W8WZZ	32,900	329	100	0	0	329	100	FAIR
K8FAY	25,700	257	100	0	0	257	100	FAYE
N8VV	24,297	154	91	113	63	41	28	COSH
WS6K	23,552	256	92	0	0	256	92	CLER
K8GDT	20,916	250	83	2	2	248	81	MEDI
KA8HQL	20,792	148	92	78	43	70	49	PERR
N8OB	20,554	224	86	15	11	209	75	MARI
NR8U	18,564	221	84	0	0	221	84	LICK
NA8Y	15,484	196	79	0	0	196	79	CUYA
KE5ZOG	15,168	192	79	0	0	192	79	MONT
WB8LES	14,985	185	81	0	0	185	81	TRUM
W8IDM	14,278	121	59	121	59	0	0	CUYA
KB8O	14,027	149	83	20	14	129	69	LORA
WA8YVF	13,500	154	75	26	16	128	59	CUYA
N8RMZ	13,040	163	80	0	0	163	80	WASH
K8IYO	12,036	177	68	0	0	177	68	HIGH
KJ8F	10,074	146	69	0	0	146	69	ALLE
KX8C	9,394	154	61	0	0	154	61	MEDI
NF8O	9,000	150	60	0	0	150	60	MEDI
WA8TWM	8,970	130	69	0	0	130	69	LAKE
N8YN	8,777	131	67	0	0	131	67	SCIO
N4HAI	8,635	87	55	70	43	17	12	FRAN
K8LBT	8,296	136	61	0	0	136	61	CUYA
KC8YKQ	8,060	130	62	0	0	130	62	VANW
K8ME	8,000	92	64	33	26	59	38	CUYA
AB8YK	7,965	135	59	0	0	135	59	MONT
AC8E	7,930	99	61	31	20	68	41	MEDI
W8KNO	6,897	121	57	0	0	121	57	PORT
WE8R	6,270	79	55	35	24	44	31	MONT
WT8E	5,880	103	56	2	2	101	54	ATHE

Callsign	Score	QSOs	Mults	CW Q	CW Mlt	PH Q	PH Mlt	QTH
N8KQ	5,353	101	53	0	0	101	53	COLU
W8GTS	4,692	92	51	0	0	92	51	HOCK
W8KVK	4,187	79	53	0	0	79	53	ATHE
W8PN	4,154	67	31	67	31	0	0	CUYA
N8DRT	4,150	83	50	0	0	83	50	DELA
NR8R	4,042	86	47	0	0	86	47	MONT
K8CMO	3,948	63	47	21	16	42	31	CLER
W8HOG	3,762	57	33	57	33	0	0	HIGH
KD8OUT	3,572	76	47	0	0	76	47	HAMI
AC8KJ	3,264	68	48	0	0	68	48	SUMM
AE8I	3,195	71	45	0	0	71	45	MIAM
KB8ZUN	3,168	48	33	48	33	0	0	LORA
N8CPA	3,162	51	31	51	31	0	0	FRAN
AI8TA	2,691	68	39	1	1	67	38	VANW
K8CI	2,277	44	33	25	18	19	15	BUTL
KD8OFL	1,890	54	35	0	0	54	35	BUTL
KB8KE	1,620	54	30	16	13	22	17	MONT
WD8EKH	1,312	41	32	0	0	41	32	MEDI
KD8ION	1,200	40	30	0	0	40	30	LICK
N4DLR	1,147	37	31	0	0	37	31	FRAN
W8FW	1,073	37	29	0	0	37	29	MIAM
N2OPW	805	31	23	4	4	27	19	DELA
W8KJ	608	22	19	10	9	12	10	BUTL
NF8U	460	23	20	0	0	23	20	COSH
KC8UNR	396	22	18	0	0	22	18	TRUM
KC8HQS	325	25	13	0	0	25	13	BUTL
W8MRL	240	16	15	0	0	16	15	BUTL
WN8U	221	17	13	0	0	17	13	FAIR

Callsign	Score	QSOs	Mults	CW Q	CW Mlt	PH Q	PH Mlt	QTH
K6JSS (N8XX, opr)	38,940	218	118	112	67	106	51	UNIO
N8OT	37,074	208	111	126	68	82	43	BUTL
WB8YYY	32,017	190	101	127	64	63	37	MD
W8RTJ	23,364	177	66	177	66	0	0	LORA
WA8PGE	23,142	166	87	100	47	66	40	PICK
N8JK	10,816	97	64	72	42	25	22	HENR
K8LL	3,220	70	46	0	0	70	46	WOOD
N8MWK	2,944	64	46	0	0	64	46	NOBL
W3CRZ	2,925	65	45	0	0	65	45	FRAN
NR8Z	2,673	46	33	35	23	11	10	CLIN
KB8OCP	580	29	20	0	0	29	20	GREE

Ohio Single Operator, QRP

Ohio Multioperator

Callsign	Score	QSOs	Mults	CW Q	CW Mlt	PH Q	PH Mlt	QTH
K8DV	479,674	1450	247	492	116	958	131	CLER
WW80H	193,140	757	185	287	78	470	107	FAIR
W8MET	113,727	511	167	170	61	341	106	CUYA
N8HR	75,264	416	128	172	53	244	75	MUSK
K8YR	51,408	432	119	0	0	432	119	PREB
WC8VOA	44,496	412	108	0	0	412	108	BUTL
W8AJT	42,294	337	114	34	24	303	90	BUTL
K8CY	41,800	418	100	0	0	418	100	ASHT
K8BLP	39,360	287	120	41	33	246	87	COLU
W8BD	21,338	207	94	20	15	187	79	WILL
W8BLV	20,726	241	86	0	0	241	86	WARR
N8YWX	19,068	227	84	0	0	227	84	ADAM
AC8GE	16,915	197	85	2	2	195	83	HOLM
W8LKY	15,375	190	75	15	12	175	63	MAHO
K8PI	15,257	133	73	76	37	57	36	WARR
N8H	14,196	182	78	0	0	182	78	HAMI
W8FT	12,900	133	75	39	31	94	44	HANC
K8BF	12,040	124	70	48	21	76	49	PORT
W8VVL	3,744	78	48	0	0	78	48	HAMI
W8WRK	504	20	14	16	12	4	2	BUTL

Call	Operators
K8DV	K8DV, K2KW, K4ZLE, K8CR, W9NIO, AA4ZU, AA8HH, AA8MC
WW80H	WW8OH,W5UHQ,K8EM,W3HKK,AC8GI,AC8GX,N2KNC,KD8PEP
W8MET	W8MET, NI8Z
N8HR	WZ8P, WX8J
K8YR	KD8QFM,KB4MSU,N8VKX,N8XC,KD8BCE,KA8SBI
WC8VOA	N8MIQ N8DZ KB8ZYE N8VSI KC8EGV
W8AJT	KD8LCD, WB8TCB, N8KYX, AB8ZX
K8CY	N8YFF, KD8LPQ, WD8PVB, N8NYI,K8WFL, WD8J
K8BLP	K8ESE, K8HGY. KB8HTU, NK8I, WB8RBH
W8BD	K8NQC,N8UOO
W8BLV	KD8W, N8HP, W8ISZ, N8YFQ
N8YWX	N8YWX WB8IOW
AC8GE	AC8GE AB8JH, AC8GE, K8MLT
W8LKY	KD8MQ, KD8QCF, WA8SHP, WA8WHP, K8SRR, KC8SUI, N8IGZ
K8PI	K8PI KD8W, N8HP, W8ISZ, N8YFQ
N8H	W8OUU, W8AUV, KC8KKC, W9OBQ
W8FT	AD8P, KD8HZM, KJ8F, N8ET, WE8ST
K8BF	WB2DFC, WB8LCD, WB9LBI, N8QE, N8WLE, W8PT, KC8PD, KJ4MPN, WA8CCU, KD8FME
W8VVL	
W8WRK	KD8RUH, KD8SES, N8TM

Ohio Mobile

Callsign	Score	QSOs	Mults	CW Q	CQ Mlt	PH Q	PH Mlt	Ctys	Operators
K8MR	165,960	738	120	645	79	93	41	26	K8MR, AF8A
K9TM	132,314	742	91	712	74	30	17	32	K9TM, W8MJ
W80	128,844	617	108	576	81	41	27	22	K8NZ, W8CAR
W9MSE	82,288	556	74	556	74	0	0	23	W9MSE
W8EX	4,136	57	44	37	28	20	16	1	N8TFD

Ohio Rover

Callsign	Score	QSOs	Mults	CW Q	CW Mlt	PH Q	PH Mlt	Operators
N9FN	201,480	572	230	304	123	268	107	K9FN, K9NN, N9FN
K8RYU	179,300	668	163	432	86	236	77	K8RYU,KD8CWV
AB8DD	21,680	271	80	0	0	271	80	AB8DD,N8KXH, N8OZB

Ohio Results By County

Call	CW Q	CW Mult	SSB Q	SSB Mult	Score	Category	QTH
-							
N8YWX	0	0	227	84	19,068	М	ADAM
KJ8F	0	0	146	69	10,074	м	ALLE
1001	U	0	140	05	10,074	141	
К8СҮ	0	0	418	100	41,800	М	ASHT
WT8E	2	2	101	54	F 890	SOL	ATHE
W18E W8KVK	0	0	79	53	5,880 4,187	SOL	ATHE
WORVR	U	0	75	55	4,107	301	
K9NW	182	90	162	79	88,894	SOL	BUTL
WC8VOA	0	0	412	107	44,084	м	BUTL
W8AJT	34	24	303	89	41,923	м	BUTL
N8OT	126	67	82	42	36,406	SOQ	BUTL
K8CI	25	18	19	15	2,277	SOL	BUTL
KD8OFL	0	0	54	35	1,890	SOL	BUTL
W8KJ	10	9	12	9	576	SOL	BUTL
W8WRK	16	11	4	2	468	М	BUTL
KC8HQS	0	0	25	12	300	SOL	BUTL
W8MRL	0	0	16	15	240	SOL	BUTL
N8BJQ	320	104	372	105	211,508	SOH	СНАМ
NobiQ	520	104	572	105	211,500	5011	CIAM
K8DV	492	115	958	130	475,790	м	CLER
WS6K	0	0	256	92	23,552	SOL	CLER
к8СМО	21	16	42	31	3,948	SOL	CLER
KA8AXY	0	0	56	36	2,016	SOH	CLER
K8IO	3	3	163	73	12,844	SOH	CLIN
NR8Z	35	23	11	10	2,673	SOQ	CLIN
K8BLP	41	33	246	86	39,032	м	COLU
N8KQ	0	0	101	53	5,353	SOL	COLU
_							
N8VV	113	63	41	28	24,297	SOL	COSH
K8ROX	61	38	366	108	71,248	SOH	CRAW
W8MET	170	61	341	105	113,046	М	CUYA
KE8G	330	95	0	0	62,700	SOL	CUYA
NB8I	0	0	310	92	28,520	SOH	CUYA

		-					
NA8Y	0	0	196	79	15,484	SOL	CUYA
W8IDM	121	58	0	0	14,036	SOL	CUYA
WA8YVF	26	16	128	59	13,500	SOL	CUYA
K8LBT	0	0	136	61	8,296	SOL	CUYA
K8ME	33	26	59	38	8,000	SOL	CUYA
W8PN	67	31	0	0	4,154	SOL	CUYA
W8LO	0	0	49	34	1,666	SOH	DEFI
K8MP	324	105	303	96	191,151	SOH	DELA
W8KTQ	322	86	157	71	125,757	SOL	DELA
K8ES	287	95	141	74	120,835	SOH	DELA
W8JK	205	79	195	82	97,405	SOH	DELA
KE8O	0	0	218	84	18,312	SOH	DELA
N8DRT	0	0	83	49	4,067	SOL	DELA
N2OPW	4	4	27	19	805	SOL	DELA
K1LT	303	97	404	118	217,150	SOH	FAIR
WW8OH	287	78	470	106	192,096	М	FAIR
W8WZZ	0	0	329	100	32,900	SOL	FAIR
WN8U	0	0	17	13	221	SOL	FAIR
	•	-					
K8FAY	0	0	257	99	25,443	SOL	FAYE
NOTAT	0	•	257		23,443	301	
KV8Q	419	119	0	0	99,722	SOL	FRAN
NT8Z	48	27	440	115	76,112	SOH	FRAN
N4HAI	70	42	17	12	8,478	SOL	FRAN
N8CPA	51	31	0	0	3,162	SOL	FRAN
W3CRZ	0	0	65	45	2,925	soq	FRAN
N4DLR	0	0	37	31	1,147	SOL	FRAN
K8AZ	298	108	284	100	183,040	SOL	GEAU
KOAL	250	100	204	100	185,040	301	GLAO
KBROCD	•	0	20	20	F 90	600	CDEE
KB8OCP	0	0	29	20	580	SOQ	GREE
NA/OTA	207	111	•	•	00.124	601	
W8TM	397	111	0	0	88,134	SOL	HAMI
N8BV	0	0	342	108	36,936	SOL	HAMI
KC8RPV	0	0	216	88	19,008	SOH	HAMI
N8H	0	0	182	77	14,014	M	HAMI
W8VVL	0	0	78	47	3,666	M	HAMI
KD8OUT	0	0	76	47	3,572	SOL	HAMI
W8FT	39	31	94	44	12,900	М	HANC
N8JK	72	42	25	22	10,816	SOQ	HENR
WA8KIW	0	0	401	98	39,298	SOL	HIGH
K8IYO	0	0	177	68	12,036	SOL	HIGH
W8HOG	57	33	0	0	3,762	SOL	HIGH

W8GTS	0	0	92	51	4,692	SOL	НОСК
AC8GE	2	2	195	82	16,716	м	HOLM
KD8CJ	0	0	70	38	2,660	SOH	HOLM
KE8M	284	101	0	0	57,368	SOH	HURO
KLOWI	204	101	0	0	57,508	3011	поко
AA8IA	180	81	206	83	92,824	SOL	JEFF
WT8C	0	0	327	103	33,681	SOH	LAKE
WA8TWM	0	0	130	69	8,970	SOL	LAKE
NR8U	0	0	221	84	18,564	SOL	LICK
KD8ION	0	0	40	30	1,200	SOL	LICK
KW8N	257	98	713	130	279,756	SOH	LORA
K8FH	275	104	128	65	114,582	SOL	LORA
W8RTJ	177	65	0	0	23,010	SOQ	LORA
KB8O	20	14	129	68	13,858	SOL	LORA
KB8ZUN	48	33	0	0	3,168	SOL	LORA
W8LKY	15	11	175	63	15,170	м	МАНО
KB8VAO	8	8	84	54	6,200	SOH	MAHO
KBOVAU	0	0	04	54	0,200	301	IVIANO
N8OB	15	11	209	75	20,554	SOL	MARI
K8NVR	214	75	283	102	125,847	SOL	MEDI
K8GDT	2	2	248	81	20,916	SOL	MEDI
КХ8С	0	0	154	61	9,394	SOL	MEDI
NF8O	0	0	150	60	9,000	SOL	MEDI
AC8E	31	20	68	41	7,930	SOL	MEDI
WD8EKH	0	0	41	32	1,312	SOL	MEDI
NS8O	144	63	152	74	60,280	SOL	MEIG
AE8I	0	0	71	45	3,195	SOL	MIAM
W8FW	0	0	37	29	1,073	SOL	MIAM
KE5ZOG	0	0	192	79	15,168	SOL	MONT
AC8G	0	0	177	73	12,921	SOH	MONT
AB8YK	0	0	135	59	7,965	SOL	MONT
WE8R	35	24	44	31	6,270	SOL	MONT
NR8R	0	0	86	47	4,042	SOL	MONT
KB8KE	0	0	54	30	1,620	SOL	MONT
WC8Z	0	0	7	5	35	SOL	MONT
N8HR	172	53	244	74	74,676	м	MUSK
N8HK	172	53	244	/4	/4,6/6	IVI	MUSK

N8MWK	0	0	64	46	2,944	SOQ	NOBL
KA8HQL	78	42	70	49	20,566	SOL	PERR
WARDOT	400	47		40	22.4.42		DICK
WA8PGE	100	47	66	40	23,142	SOQ	PICK
KC8IMB	0	0	4	4	16	SOL	PIKE
KODE	40		70	40	11.000		DODT
K8BF	48	20	76	49	11,868	M	PORT
W8KNO	0	0	121	57	6,897	SOL	PORT
K8YR	0	0	432	118	50,976	М	PREB
NO8C	204	74	69	47	57,717	SOL	PUTN
N8YN	0	0	131	67	8,777	SOL	SCIO
AC8KJ	0	0	68	47	3,196	SOL	SUMM
K8YM	116	59	419	112	111,321	SOH	TRUM
WB8LES	0	0	185	80	14,800	SOL	TRUM
KC8UNR	0	0	22	18	396	SOL	TRUM
K6JSS	112	66	106	51	38,610	SOQ	UNIO
KC8YKQ	0	0	130	62	8,060	SOL	VANW
AI8TA	1	1	67	38	2,691	SOL	VANW
W8BLV	0	0	241	85	20,485	М	WARR
K8PI	76	37	57	35	15,048	М	WARR
N8RMZ	0	0	163	80	13,040	SOL	WASH
W8BD	20	15	187	79	21,338	М	WILL
KOLI	0		70		2 2 2 2 0	600	WOOD
K8LL	0	0	70	46	3,220	SOQ	WOOD

Call	CW Q	CW Mult	SSB Q	SSB Mult	Score	QTH
NA4K	136	65	213	69	64,990	TN
K8MM	152	67	110	49	48,024	MI
N4PN	128	60	122	50	41,580	GA
K8JQ	86	40	201	69	40,657	WV
W7GKF	96	57	41	25	19,106	WA
WA2VYA	128	56	0	0	14,336	FL
KW3A	17	14	126	52	10,560	PA
WA6KHK	60	41	23	17	8,294	CA
NT2A	66	45	13	12	8,265	NY
K4BAI	60	32	29	22	8,046	GA
N3KN	39	23	60	35	8,004	VA
K1PX	61	36	12	9	6,030	СТ
DL3GA	62	46	0	0	5,704	DX
W8FN	46	32	23	17	5,635	TX
DK2OY	45	35	13	10	4,635	DX
VE6BMX	36	26	20	13	3,588	AB
K5WP	34	22	17	16	3,230	AL
W5ASP	42	35	0	0	2,940	TX
K5WAF	32	24	6	6	2,100	ΤX
KO7X	31	22	7	7	2,001	WY
K6DGW	33	23	0	0	1,518	CA
N6WIN	10	10	4	4	336	CA
NV8N	0	0	20	15	300	MI
DL6KVA	6	6	0	0	72	DX
KR9E	0	0	9	8	72	IN
K1JB	3	3	2	2	40	ME

Single Operator Outside Ohio, High Power

Call	CW Q	CW Mult	SSB Q	SSB Mult	Score	QTH
K8CC	98	53	79	43	26,400	MI
W8TOM	61	35	94	45	17,280	MI
K1TN	76	44	59	34	16,458	WI
KOJPL	67	43	49	36	14,457	MO
K4ZGB	62	37	54	33	12,460	AL
WA8KAN	56	31	61	38	11,937	WV
ND3R	65	43	40	27	11,900	PA
K8AAX	42	21	60	35	8,064	MI
VE2AWR	69	38	13	12	7,550	QC
W1DWA	55	37	23	19	7,448	MA
N2CU	51	30	32	25	7,370	NY
AF5CC	51	39	20	17	6,832	ОК
W4SNP	22	19	65	42	6,649	VA
KN4Y	79	42	0	0	6,636	FL
K8GT	56	35	14	13	6,048	MI
N9LJX	50	30	22	16	5,612	IN
K9BTQ	17	13	65	39	5,148	WI
NA2NY	0	0	103	46	4,738	NY
WB2ABD	58	40	0	0	4,640	NY
K3GHH	61	36	0	0	4,392	NY
N3KR	61	36	0	0	4,392	PA
KD4BAO	0	0	96	44	4,224	SC
NA8V	32	23	32	21	4,224	MI
NV9X	28	19	35	27	4,186	IL
W1WBB	45	31	11	9	4,040	RI
K8GVK	10	9	62	35	3,608	MI
AC5O	0	0	90	40	3,600	LA
K5ME	57	30	0	0	3,420	ТΧ
K8PGJ	0	0	71	41	2,911	MI
W1END	44	33	0	0	2,904	NH
N8EA	50	28	0	0	2,800	MI
W5UE	36	25	9	9	2,754	MS
WA3AAN	46	29	0	0	2,668	PA
KORC	15	15	35	26	2,665	MN
W4EBA	35	27	6	6	2,508	FL
KE3X	35	24	7	7	2,387	MD
K4ORD	38	30	0	0	2,280	VA
КЗТХ	37	27	0	0	1,998	PA
VE3LFA	0	0	61	32	1,952	ON
N3TG	39	23	0	0	1,794	VA
KK4CIS	0	0	52	33	1,716	WV
KU8E	35	24	0	0	1,680	GA
WD8S	16	13	22	17	1,620	MI
NF8M	26	19	8	7	1,560	MI
VE9OA	10	10	27	19	1,363	NB

Single Operator Outside Ohio, Low Power

W3DYA	28	23	0	0	1,288	ТΧ
NX4N	26	22	1	1	1,219	FL
N1EN	17	10	14	14	1,152	CT
N4AO (WC4E opr)	26	21	0	0	1,092	FL
K8MCN	0	0	42	24	1,008	MO
K4BSK	25	20	0	0	1,000	NC
N7XU	21	21	0	0	882	OR
PA3ARM	21	19	0	0	798	DX
NM5M	22	17	0	0	748	ТΧ
KE4KE	0	0	28	20	560	MN
KD8RML	0	0	25	22	550	WV
AD8J	19	14	0	0	532	NC
W7WHY	16	13	2	2	510	OR
KB3ORR	0	0	22	19	418	PA
WA5SOG	6	6	12	10	384	AR
VA2UTC	0	0	21	17	357	QC
KM6I	12	11	2	2	338	CA
W9CF	13	13	0	0	338	AZ
KJ4VTH	0	0	17	16	272	VA
КNЗА	6	4	9	7	231	PA
WC5D	11	10	0	0	220	ТΧ
KK4FWX	10	9	0	0	180	TN
WONFS	0	0	15	11	165	MO
K6CSL	5	4	5	4	120	CA
K6KQV	8	7	0	0	112	CA
K4GOP	0	0	11	9	99	FL
KD7ZLF	0	0	11	9	99	OR
WB7CYO	0	0	11	9	99	ID
W4ZPR	7	7	0	0	98	VA
W7YMS	7	7	0	0	98	OR
KB7PVU	0	0	9	8	72	NM
N7IXI	0	0	8	7	56	OR
YV5OIE	5	5	0	0	50	DX
W7JSD	0	0	6	6	36	AZ
WA1FFT	0	0	6	6	36	NJ
WOPAN	0	0	6	5	30	AZ
N9WL	0	0	5	5	25	NM
VE7NS	0	0	5	5	25	BC
NOLVA	0	0	3	2	6	NM
AE7DW	0	0	2	2	4	AZ

Call	CW Q	CW Mult	SSB Q	SSB Mult	Score	QTH
WB8YYY	127	64	63	37	32,017	MD
N4JF	44	26	32	22	5,760	AL
KB3AAG	34	19	0	0	1,292	PA
WB0IWG	0	0	14	10	140	ND
KD2MX	6	5	0	0	60	NJ

Single Operator Outside Ohio, QRP

Multioperator Outside Ohio

Call	CW Q	CW Mult	SSB Q	SSB Mult	Score	QTH
NW2K	118	58	84	43	32,320	NY
W3KWH	0	0	131	53	6,943	PA
W1AF	2	2	8	6	96	MA

Reported QSOs by Ohio County

СТҮ	тот	CW	SSB	СТҮ	тот	cw	SSB
ADAM	192	57	135	LICK	151	0	151
ALLE	206	93	113	LOGA	71	18	53
ASHL	87	64	23	LORA	1016	545	471
ASHT	334	5	329	LUCA	261	114	147
ATHE	237	53	184	МАНО	202	16	186
AUGL	32	32	0	MADI	69	34	35
BELM	42	18	24	MARI	170	46	124
BROW	56	27	29	MEDI	829	181	648
BUTL	989	347	642	MEIG	210	116	94
CARR	35	9	26	MERC	465	243	222
CHAM	564	223	341	MIAM	197	69	128
CLAR	278	35	243	MONR	15	12	3
CLER	792	258	534	MONT	768	97	671
CLIN	288	48	240	MORG	87	35	52
COLU	274	37	237	MORR	125	70	55
COSH	139	79	60	MUSK	379	128	251
CRAW	268	76	192	NOBL	88	17	71
CUYA	1535	572	963	OTTA	37	35	2
DARK	116	19	97	PAUL	65	22	43
DEFI	160	95	65	PERR	126	71	55
DELA	1386	743	643	PICK	214	108	106
ERIE	113	30	83	PIKE	133	47	86
FAIR	832	350	482	PORT	181	32	149
FAYE	236	18	218	PREB	222	15	207
FRAN	849	487	362	PUTN	172	131	41
FULT	73	50	23	RICH	107	72	35
GALL	122	53	69	ROSS	50	28	22
GEAU	516	182	334	SAND	168	71	97
GREE	360	136	224	SCIO	133	31	102
GUER	53	20	33	SENE	97	53	44
HAMI	906	267	639	SHEL	149	19	130
HANC	118	68	50	STAR	43	16	27
HARD	65	25	40	SUMM	150	42	108
HARR	31	23	8	TRUM	379	85	294
HENR	103	66	37	TUSC	85	10	75
HIGH	363	36	327	UNIO	300	155	145
HOCK	114	33	81	VANW	184	46	138
HOLM	247	23	224	VINT	66	60	6
HURO	288	200	88	WARR	565	221	344
JACK	48	35	13	WASH	216	21	195
JEFF	269	134	135	WAYN	338	304	34
KNOX	39	35	4	WILL	215	81	134
LAKE	595	177	418	WOOD		37	64
LAWR	77	33	44	WYAN	86	65	21

Most Active Ohio Counties By Mode

OVERALL

CW

SSB

CUYA	1535	MADI	170	DELA	743	SENE	53	CUYA	963	SCIO	102
DELA	1335	MARI SAND	168	 CUYA	572	FULT	55	 MONT	671	SAND	97
LORA	1016	DEFI	160	LORA	545	CLIN	48	MEDI	648	DARK	97
BUTL	989	LICK	151	FRAN	487	PIKE	40	DELA	643	MEIG	94
HAMI	906	SUMM	151	FAIR	350	MARI	47	BUTL	642	HURO	88
FRAN	849	SHEL	149	BUTL	347	VANW	46	 HAMI	639	PIKE	86
	832		139		304		40		534		83
FAIR MEDI	829	COSH PIKE	133	 WAYN HAMI	267	SUMM COLU	37	CLER FAIR	482	ERIE HOCK	81
CLER	792		133		258	WOOD	37	LORA	471	TUSC	75
MONT	792	SCIO			258	HIGH	37			NOBL	75
		PERR	126	MERC					418		
	595	MORR	125	CHAM	223	CLAR	35	FRAN	362	GALL	69
WARR	565	GALL	122	WARR	221	JACK	35	 WARR	344	DEFI	65
CHAM	564	HANC	118	HURO	200	KNOX	35	CHAM	341	WOOD	64
GEAU	516	DARK	116	GEAU	182	MORG	35	GEAU	334	COSH	60
MERC	465	НОСК	114	MEDI	181	OTTA	35	ASHT	329	PERR	55
MUSK	379	ERIE	113	LAKE	177	MADI	34	HIGH	327	MORR	55
TRUM	379	RICH	107	UNIO	155	НОСК	33	TRUM	294	LOGA	53
HIGH	363	HENR	103	GREE	136	LAWR	33	MUSK	251	MORG	52
GREE	360	WOOD	101	JEFF	134	AUGL	32	CLAR	243	HANC	50
WAYN	338	SENE	97	PUTN	131	PORT	32	CLIN	240	SENE	44
ASHT	334	NOBL	88	MUSK	128	SCIO	31	COLU	237	LAWR	44
UNIO	300	ASHL	87	MEIG	116	ERIE	30	GREE	224	PAUL	43
CLIN	288	MORG	87	LUCA	114	ROSS	28	HOLM	224	PUTN	41
HURO	288	WYAN	86	PICK	108	BROW	27	MERC	222	HARD	40
CLAR	278	TUSC	85	MONT	97	HARD	25	FAYE	218	HENR	37
COLU	274	LAWR	77	DEFI	95	HARR	23	PREB	207	RICH	35
JEFF	269	FULT	73	ALLE	93	HOLM	23	WASH	195	MADI	35
CRAW	268	LOGA	71	TRUM	85	PAUL	22	CRAW	192	WAYN	34
LUCA	261	MADI	69	WILL	81	WASH	21	MAHO	186	GUER	33
HOLM	247	VINT	66	COSH	79	GUER	20	ATHE	184	BROW	29
ATHE	237	HARD	65	CRAW	76	DARK	19	LICK	151	STAR	27
FAYE	236	PAUL	65	RICH	72	SHEL	19	PORT	149	CARR	26
PREB	222	BROW	56	PERR	71	BELM	18	LUCA	147	BELM	24
WASH	216	GUER	53	SAND	71	FAYE	18	UNIO	145	ASHL	23
WILL	215	ROSS	50	MORR	70	LOGA	18	VANW	138	FULT	23
РІСК	214	JACK	48	MIAM	69	NOBL	17	JEFF	135	ROSS	22
MEIG	210	STAR	43	HANC	68	MAHO	16	ADAM	135	WYAN	21
ALLE	206	BELM	42	HENR	66	STAR	16	WILL	134	JACK	13
МАНО	202	KNOX	39	WYAN	65	PREB	15	SHEL	130	HARR	8
MIAM	197	OTTA	37	ASHL	64	MONR	12	MIAM	128	VINT	6
ADAM	192	CARR	35	VINT	60	TUSC	10	MARI	124	KNOX	4
VANW	184	AUGL	32	ADAM	57	CARR	9	ALLE	113	MONR	3
PORT	181	HARR	31	ATHE	53	ASHT	5	SUMM	108	ΟΤΤΑ	2
	101										

Reported QSOs Outside Ohio

STATE	TOTAL	CW	SSB	STATE	TOTAL	CW	SSB
СТ	126	92	34	NV	40	5	35
MA	168	69	99	OR	98	41	57
ME	66	28	38	UT	52	4	48
NH	74	46	28	WA	293	140	153
RI	96	73	23	WY	75	44	31
VT	25	0	25	МІ	1378	680	698
NJ	177	61	116	wv	475	193	282
NY	752	368	384	IL	588	213	375
DE	69	31	38	IN	455	207	248
MD	412	236	176	WI	444	223	221
PA	1062	396	666	со	149	24	125
AL	386	198	188	IA	76	22	54
FL	568	372	196	KS	379	60	319
GA	426	241	185	MN	294	172	122
КҮ	110	31	79	MO	330	184	146
NC	231	80	151	NE	60	12	48
SC	137	5	132	ND	47	7	40
TN	690	316	374	SD	27	12	15
VA	592	276	316	NS	14	8	6
AR	143	92	51	QC	86	56	30
LA	111	5	106	ON	168	20	148
MS	98	50	48	MB	19	0	19
NM	67	9	58	SK	5	0	5
ОК	186	50	136	AB	51	29	22
ТΧ	605	279	326	BC	21	1	20
CA	654	209	445	NWT	1	0	1
HI	83	9	74	NB	39	14	25
AK	52	38	14	PEI	0	0	0
AZ	151	39	112	NL	3	1	2
ID	69	6	63	DX	349	189	160
MT	148	112	36				

Ohio Club Scores

Club S	core Entries	
DELAWARE AMATEUR RADIO ASSOCIATION	832,541	11
SOUTHWEST OHIO DX ASSOCIATION	817,956	10
NORTH COAST CONTESTERS	585,396	4
MEDINA 2 METER GROUP	279,587	6
SOCIETY OF MIDWEST CONTESTERS	199,728	1
CENTRAL OHIO OPERATORS KLUB EXTRA NOVICE	192,096	1
MARIETTA AMATEUR RADIO CLUB	191,240	2
WEST PARK RADIOPS	183,240	6
FOND DU LAC ARC	81,176	1
NORTHERN OHIO DX ASSOCIATION	70,996	2
HIGHLAND AMATEUR RADIO ASSOCATION	55,112	4
MILFORD OHIO ARC	52,317	6
LAKE COUNTY AMATEUR RADIO ASSOCATION	42,651	2
QUEEN CITY EMERGENCY NET	42,276	2
ASHTABULA COUNTY ARC	41,800	1
TRIANGLE AMATEUR RADIO CLUB	39,032	1
OHKYIN AMATEUR RADIO SOCIETY	36,936	1
JOHN D. KRAUS MEMORIAL AMATEUR RADIO CLUB	36,406	1
DIAL RADIO CLUB	35,533	2
FAYETTE AMATEUR RADIO ASSOCIATION	25,443	1
COSHOCTON COUNTY AMATEUR RADIO ASSOCIATI	ON 24,757	2
MAUMEE VALLEY CONTEST CLUB	21,338	1
PORTAGE COUNTY AMATEUR RADIO SERVICE	19,161	3
TUSCO AMATEUR RADIO CLUB	16,716	1
ALLIANCE AMATEUR RADIO CLUB	15,170	1
CLINTON COUNTY AMATEUR RADIO ASSOCIATION	12,844	1
FINDLAY RADIO CLUB	10,074	1
VAN WERT AMATEUR RADIO CLUB	8,060	1
WOOD COUNTY ARC	3,220	1
BUTLER COUNTY ARA	3,174	4
ALABAMA CONTEST GROUP	2,944	1

Out of State Club Scores

Club	Score	Entries	
TENNESSEE CONTEST GROUP		64,990	1
SOUTHEASTERN MICHIGAN DX ASSN		48,024	1
GEORGIA CONTEST GROUP		41,580	1
POTOMAC VALLEY RADIO CLUB		36,684	3
MAD RIVER RADIO CLUB		35,248	3
SOCIETY OF MIDWEST CONTESTERS		20,069	2
FRANKFORD RADIO CLUB		18,728	2
ALABAMA CONTEST GROUP		18,220	2
NORTH COAST CONTESTERS		12,010	2
SOUTH EAST CONTEST CLUB		10,258	3
STEEL CITY AMATEUR RADIO CLUB		6,943	1
OKLAHOMA DX ASSN		6,832	1
ALBEMARLE ARC		6,649	1
FLORIDA CONTEST GROUP		6,634	5
DFW CONTEST GROUP		6,383	2
WEST ALLIS RAC		5,148	1
METRO DX CLUB		4,186	1
YANKEE CLIPPER CONTEST CLUB		4,056	2
CTRI CONTEST GROUP		4,040	1
MINNESOTA WIRELESS ASSN		3,225	2
CENTRAL TEXAS DX AND CONTEST CLUE	3	2,940	1
NORTHERN CALIFORNIA CONTEST CLUB	3	2,088	4
STERLING PARK ARC		2,066	2
GRAND MESA CONTESTERS OF COLORA	DO	2,001	1
HAZEL PARK ARC		1,620	1
MARITIME CONTEST CLUB		1,363	1
CENTRAL OREGON DX CLUB		882	1
ALLEGHENY VALLEY RADIO ASSOCIATIO	N	649	2
WILLAMETTE VALLEY DX CLUB		510	1
ARIZONA OUTLAWS CONTEST CLUB		368	2
SOUTHERN CALIFORNIA CONTEST CLUB	5	336	1
MISSISSIPPI VALLEY DX/CONTEST CLUB		165	1
USS WISCONSIN RC		98	1
CLATSOP COUNTY CONTEST CLUB		56	1
COCHISE AMATEUR RADIO ASSN		36	1

Soapbox

WOULD CONSIDER SEPARATING MOBILE FROM ROVER AND GIVE BONUS POINTS FOR ROVERS WHO ACTIVATE MULTIPLE COUNTIES, AB8DD TRAVELS TO AND SETS UP PORTABLE OPERATION IN 5 COUNTIES! - AB8DD

WE HAD A GOOD TIME FROM HOLMES CO. SEE YOU NEXT YEAR. - AC8GE

WORKED THE OQP FROM MY NEW YORK STATE QTH. - K3GHH

HELPING TAKE DOWN A TOWER, NOT MUCH TIME TO PLAY IN THE OHQP, ON FOR 2 HOURS AND ENJOYED IT , 73 RILEY - K4ORD

THANKS FOR A GOOD PARTY. - K5ME

WELL, OUT OF 11 QSO'S, 3 NEW OHIO COUNTIES. TNX. - K6CSL

POOR DAYTIME CONDITIONS, BUT AN EXCELLENT QSO PARTY. - K6KQV

OUR FIRST CLUB EFFORT! WE USED OUR NEW EMCOMM TRAILER - A GREAT TIME HAD BY ALL! - K8CY

GLAD I COULD OP THE QSO PARTY THIS YEAR IF ONLY A FEW HOURS. - K8IO

ENJOYABLE PARTY. LOOKING FORWARD TO NEXT YEAR. - K8LBT

MY FAVORITE QSO PARTY! - K8MCN

AT 1:30AM, THREE MILES FROM MY HOME, WE WERE STOPPED AT A DUI CHECKPOINT. I'M SURE THE OFFICERS HAD NEVER STOPPED SUCH A CRAZY VEHICLE, BUT AT LEAST WE HAD NOT STOPPED FOR A FEW POST CONTEST BEERS ON THE WAY HOME. - K8MR/M

OUR FIRST MULTI/2. THE COMPUTERS WERE NOT NETWORKED. WE RAN A SEPARATE SERIAL NUMBER STRING FOR EACH STATION. STATION A WAS ON 40. STATION B ON 80 AND 20. - K8YR

THE KS AND HI QSO PARTIES ALONG WITH THE RTTY WILDNESS ON 40 M MADE FRO CONGESTED BANDS. IT WAS A LOT OF FUN. - KA8HQL

VERY SHORT (5MIN) OPERATING TIME. WISH I COULD HAVE HANDED PIKE OUT TO SOME MORE OPS. 73 TO ALL. - KC8IMB

HAD A LOT OF FUN THIS YEAR! - KC8YKQ

ANSWERS TO QUESTIONS DURING THE CONTEST: 1. YES, HOLMES HAS HAM ANTENNAS. I HAVE 3 AND 144.67 REPEATER IS BACK ON THE AIR. 2. YES, WE DO HAVE THE AMISH HERE. 3. YES, WE DO HAVE DER DUTCHMAN RESTAURANTS. 4. YES, I DID HAVE FUN THIS YEAR. THANKS! - KD8CJ

MY FIRST OH QSO PARTY - KJ4VTH

MNY TNX TO THE ORGANIZERS FOR A FUN QSO PARTY 73 - KK4CIS

OPERATED CW WITH A BUNCH OF GREAT OPERATORS MOBILE AND FIXED. GOOD SIGNALS. IT IS NOT TRUE ALL THE OHIO CW OPERATORS HAD RETIRED AND MOVED TO FLORIDA. AT LEAST NOT YET. - KN4Y

ANOTHER GOOD TIME IN THIS PARTY. BANDS WERE DECENT BUT NOT MUCH ON 10 OR 15. MOVED A FEW LOCALS OVER THERE WITH LIMITED SUCCESS. MY ONLY 5-BANDER WAS K8MP. FOUND 77 OF THE 88 OHIO COUNTIES AND HAD LOTS OF

FUN DOING IT. AS USUAL, RTTY MADE IT VERY INTERESTING ON 40 ONCE AGAIN. THANKS TO THE MOBILES THAT MADE IT ALL POSSIBLE: K9TM = 24 QSO'S K8MR = 19 QSO'S W9MSE = 18 QSO'S W8O = 16 QSO'S K8RYU = 11 QSO'S N4CD = 2 QSO'S I'LL BE LOOKING FOR ALL OF YOU ONCE AGAIN NEXT YEAR FOR TWELVE MORE HOURS OF FUN. - KV8Q

LOTS OF FUN. - KW8N

GLAD I COULD MAKE A FEW QSOS. THANKS FOR ALL THE OH QSOS IN FLORIDA QSO PARTY! - N4AO

IT WAS VERY INTERSTING. 80 AND 40 WERE THE ONLY 2 BANDS I COULD HEAR ANY OH STATIONS. WORKED 1 STATION ON 20 METERS. -N4JF

THANKS TO THE MAD RIVER GANG FOR DOING IT AGAIN...GREAT TEST. SORRY I COULDN'T GO FULL TIME THIS YEAR...WAS OUT OF TOWN FOR THE START...THANKS TO ALL THE MOBILES AS ALWAYS...EVEN MORE WITH GAS PRICES GOING BACK UP BY THE DAY... - N4PN

BEAUTIFUL DAY, GREAT TIME AS USUAL, MAKES FOR A NICE CLUB EVENT - N8H STATION N8H OPERATED BY W8OUU, W8AUV, KC8KKC, W9OBQ

CAMPED NEAR CALDWELL TO ACTIVATE NOBLE, BUT ONLY HAD AN FT-817 (2.5 WATTS) W/40 & 80M DIPOLES. - N8MWK

HAD A GOOD TIME. - N8OB

SECOND YEAR FOR THIS CONTEST. EXPECTING TO DO MUCH BETTER THIS YEAR FROM CUYA - NA8Y

HAD A GREAT TIME AS ALWAYS. SEE YOU ALL NEXT YEAR. - ND3R

THANKS TO EVERYONE I WORKED. LOOKING FORWARD TO NEXT YEARS CONTEST. - NO8C

BAND CONDITIONS WERE NOT THE BEST ON 20, 15 OR 10 METERS THIS YEAR SO 40 AND 80 METERS WERE THE BIG BANDS - NS8O

RIG WAS FTDX5000 (100W) AND BUTTERNUT HF6V VERTICAL. FEWER CONTACTS THAN LAST YEAR. - W1END

HAMARC 1ST QSO PARTY : SETUP: 2 STATIONS FT-890 AND FLEX SDR 3000. ANTENNAS USED WERE AN 80 METER INVERTED L, AND A 40 METER HORIZONTAL LOOP, BOTH STATIONS USED A MANUAL TUNER TO ALLOW WORKING MULTIPLE BANDS. - W8AJT

THANKS. - W8FW

IT WAS A FUN QSO PARTY. - W8KNO

THANKS FOR THE QSO PARTY! - W8WRK

SPENT MOST OF MY TIME THIS YEAR ON THE KANSAS QSO PARTY BUT I AM DOWN TO 4 COUNTIES LEFT IN OHIO! THANKS GUYS! - WA6KHK

CAMPED OUT AT SLATE RUN METRO PARK IN CENTRAL OH. BEAUTIFUL WX. RIG WAS SOFTROCK RXTX 6.3 AND 5W AMP, SOFTWARE WAS ROCKY FOR CW AND PSDR-IQ FOR PHONE. ANTENNA WAS INV VEE FOR 80/40/20M. - WA8PGE

MY FIRST CONTEST - WB8LES

NICE COMPACT TIME PERIOD. - WC5D

BUTL FROM VOA STATION IN WEST CHESTER, OH - WC8VOA